| Efficiency vs Dxy |

> 0.8
<

o
\‘

efficiency vs d

0.5

0.4

0.3

0.2

0.1

1.

Ratio

0.95

)

| Efficiency vs Dz |

0-15-10 =5~ 0 5 10 15 20 25

TP dxy (cm)

—=— DOQM_TT __ori

DOM
D§

gimat

mod_models”trut
—mod_models~trut

~“TT_mod_models_truthfinal modelTEST-29
mod_models_trut

hallhits_modelTEST-29
hfinal_reg_modelTEST-24
hallhits reg modelTEST-21

1

0.8

efficiency vs dz

0.6

0.4

...................

0.2

..........................

] S R RREE 4
- L 23
- W

20

30

TP dz (cm)




	Contents
	Page 1


